TEST DIGITAL INGLESE

* Indica una domanda ohhbliaatoria

.................................

1. ExtendedForms Id (skip this field)
DO NOT EDIT this field or your score will not recorded.

2. Cognome *

3. Nome*

Part 1 (5 marks)

Which sentence (A-H) says this (1-5)?



1. Children pay less than adults here.
2. Be careful because this will burn.
3. We don’t want any money yet.

4. Things are cheaper here.

5. You must pay with cash.

A. Summer sales, low prices in all departments.

B. Fire door, keep closed.

C. Lift not working.

D. Toy shop now open.

E. Buy now, pay next year!

F. Keep this nightdress away from fire!

G. We do not take checks or credit cards.
H. Under 12s HALF PRICE.

Contrassegna solo un ovale per riga.

A B C D E F G H

1 o O o o o o o O
2 o O o o O o o O
3 o O o o o o o O
4 o O o o o o o O
5 o O o o o o O O




PART 2 (5 marks)

Complete the short sentences (1-5) with the most appropriate reply (A, B, C).

5. It's time for lunch

Contrassegna solo un ovale.

Oh good!
One hour.

Half past twelve.

6. Would you like a drink?

Contrassegna solo un ovale.

| don't like coffee.
| prefer tea.

Yes, coffee please.



7. How much was your new shirt?

Contrassegna solo un ovale.

It's a red shirt.
It was very cheap.

It was in a shop.

8. I'mvery sorry.
Contrassegna solo un ovale.

I’'m afraid so.
| think so.

That's all right.

9. Do you speak English?

Contrassegna solo un ovale.

No, I'm not.
Only a little.

Yes, very much.



PART 3 (6 marks)

For each sentence (1-5), choose the most appropriate word (A, B, C) for each space.

10. She wanted to with a family.

Contrassegna solo un ovale.

stand

stay

go

11. She hoped that this way she could the language.

Contrassegna solo un ovale.

teach
find

learn



12.  When she returned to Italy, four weeks later, she could better English.

Contrassegna solo un ovale.

talk
speak

say

13.  Now she’s thinking of going back England again next year.

Contrassegna solo un ovale.
in
at

to

14. She to return next summer.

Contrassegna solo un ovale.

will
hopes

goes



